gobggobudgobuoobuoobouoobouoon

oo oo OO 0OO0OOO
ugoooog oboaod

ooboodbo ocobobcoboboooboooooooboo
oobooboooooooobooobooboooooooono
ooboodoooooooooooboboooooooon
oobbooboooooooboooboboOooooooono
ooobDoooooooooon
gbobooobooooooobOoobooboOoooooon
oobooooooooobooboboOooooooDoono
oooooooooooboooo
ooooono ocobobooboobooobobooooooobono
oobooooooobooooboooboOooooooDooo
oobOoobooooooobOooboobocOooooooDoono
ooboobooooooobboooboooooooDbono
000000 ROODOOOODODOOOODOOODOOO
Rs000000OO R/RsO0DODOOODOOODOO
ooboooooooooboooooogoo

R 2w+ t)Rs [, J(1)J(1)dl

Rs RgII*

ooooooodooodo boooooooooobooo
oob0ooobOoooboooobooooboOooonno
OO0 200000000000000000D00O0DODO
oooooooooo3oooooooooooooon
ooboobooooooooooobooooobooooDoono
oobodoooooooobooooboOooooooono
oobooobooooooooOoooboobobocoooon
oopboooooooooobooooboOooooooDooo
ooooooooon
gobooobooooooobooobobooooooono
oooooOooOoO0ooOoOoOooOO0oobOoOoOoo0oon 1.02
Ooo00o0000oooooo 20000000000
ooboobobooooooooobooooooooon
oooooooood
oooo0on0 oOoboobobooobooooooDboo
oobocobobooooooooobooboOooooooDooo

gobobobooboboboooboobooboooba

oooo02000000000D00C00DOO0O00O00O0OO0
gobobooobooobboobbooobboon
gobooboooobooboooboo

Planar conductor

= ~—dipole

10m H /

01 ooooo

008 11T
T 0.02---p--embemmefoeee bt -
£ A
< A A
3 A
Al B e S e R
= Lo )
o) EEPE s s s A
-1 0 1 2 3 4 5 o6
X [mm]

02 0000000000 (¢t=0.1[mm])
2 - .
1.8+ Singlelayer ]

1.6 .
el i
T 14 _ Double layers
1.2
o — 1T 2

t [mm]

03 0booooOooooo



